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WELCOME CLASS 10™ (SCIENCE)

Quadratic Equations




Objectives

Students will be able to:

Solve equations which are convertible to
quadratic equations



Q. Solve the following equations

2
- —4y+4=0
(7).L+4(x_3)=4 Y =4y
S * y —2y-2y+4=0
Solution : x3+4(x—_3jz4 y(y—2)-2(y-2)=0
SR (y-2(y-2)
Let ——=y = ~—= y=2=0 =5 y=2
x—3 X y
Equcatonbecome Put thevalue of 'y
X
y+4[l]:4 _x—3:2 = x=2(x-3)
¥
Multiplying both sideby " y" X=2x-6 = 6=2x—x
x=06

2
y' +4=4y
S.Set ={6}



(10).x* —2x" =2x° +2x+1=0
Solution :
=207 =2x +2x+1=0
Dividing both sides by " x*"

2 22 2x 1 0
e —“+ e =

X x° ® X X &
xz—zx-2+3+i,=o
% X

(x2+i,)—2x+g—2=0

X X
(x2+iz)—2(x—l)—2=0 ...... (1)

X X

1
Let x——=y ... (2)

Taking square on both sides

Putting values in eq.(1)
y>+2-2(y)-2=0

y -2y=0
y(y—=2)=0

y=0 y—2=0
y=0 y=2



Put y =x—l from eq.2
X

x—le x—l=2

X X
2 g
x-—1 s )

2
X X

X =1=0 x*-1=2x
x =1 x=2x-1=0

WEWEN T

r=:x1

Solving 1x> —2x—1=0 by quadratic formula

a=1 b=-2 c=-1

_ —b++b? —4dac
2a

X




Activity
S

Q. Solve the following equation

4x+1+4x—1_21
4x —1 4x+1 °6




Solution
I TS

T T 21....(1) 6y —9y-4y-6=0
4x—-1 4x+1 6 3y(2y—3)-2(2y-3)=0

i it SR Sl (2y-3)3y-2)
4x—1 4x+1 y 2y-3=0 3y—2=0
Equation (1) become i A

1 1 = Y=
Y= 3 2

" S

S
P55 4x+1_3 4x+1_2
Multiplying both sides by"6y" 4r—1 2 4x-1 3
6y> +6=13y 2(4x+1)=34x-1) 3(4x+1)=2(4x-1)



24+3=12x—-8x 12x—8x=-2-3
5=4x 4x=-5

5 5
x== xX=—-=

4 4



Homework
S

Ex 1.3 Remaining parts



